
Geometry 8
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Notice that the pentagon is made into 3 triangles.
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S = (n-2)180°
S = (11-2)180° = 1620

1440° = (n-2)180°
8 = n-2
n = 10
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S = (n-2)180°
S = (5-2)180° = 540°

93° + 156° + 85° + x + x = 540°
334 + 2x = 540
2x = 206
x = 103
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360

5
= 72°

180 = 𝑥 + 72
𝑥 = 108

Or
𝑆 = 5 − 2 ⋅ 180

𝑆 = 540

𝑖𝑛𝑡 𝑎𝑛𝑔𝑙𝑒 =
540

5
= 108
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Theorems were demonstrated in the focus
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First: yes
Second: No, congruent is not same as parallel



Sum of angles = 360
42° + 138° + 42° + 𝑚∠𝑍 = 360°

𝑚∠𝑍 = 138°

Diagonals bisect each other
2𝑥 = 10 − 3𝑥

5𝑥 = 10
𝑥 = 2
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Sometimes, 𝐹𝐺 and 𝐺𝐻 are consecutive sides, not opposite

Square; each angle is 360/4 = 90 and all sides =̃
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Diagonals are perpendicular: m∠AED = 90°

Diagonals bisect each other: DE = EB = 8
DE + EB = DB = 16

Right triangle AEB is formed with EB = 8

Use tan 53° =
8

𝐴𝐸

𝐴𝐸 tan 53° = 8

𝐴𝐸 =
8

tan 53°
= 6.0
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𝑚∠𝑄𝑃𝑅 = 𝑚∠𝑆𝑃𝑇
𝑚∠𝑃𝑇𝑆 = 𝑚∠𝑇𝑆𝑃 = 34°

𝑚∠𝑄𝑃𝑅 = 𝑚∠𝑆𝑃𝑇 = 180° − 34° − 34° = 112°

Diangonals are congruent and bisect each other

𝑅𝑃 =
1

2
𝑅𝑇 =

1

2
𝑄𝑆 =

1

2
10 = 5

RT = 10
m∠RTS = 34°

sin 34° =
𝑅𝑆

10
𝑅𝑆 = 10 ⋅ sin 34° = 5.6
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Yes, If the diagonals are =̃, then the trapezoid is isosceles

𝑚∠𝐻𝐸𝐹 + 𝑚∠𝐸𝐻𝐺 = 180°
70° + 𝑚∠𝐸𝐻𝐺 = 180°

𝑚∠𝐸𝐻𝐺 = 110° = 𝑚∠𝐹𝐺𝐻
Since the base angles are =̃, the trapezoid is isosceles
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𝑚𝑖𝑑𝑠𝑒𝑔𝑚𝑒𝑛𝑡 =
1

2
𝑏1 + 𝑏2

12 =
1

2
𝑀𝐿 + 9

24 = 𝑀𝐿 + 9
𝑀𝐿 = 15
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3𝑥° + 75° + 90° + 120° = 360°
3𝑥° + 285° = 360°

3𝑥° = 75°
𝑥 = 25
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Parallelogram, rectangle, rhombus, square, trapezoid, isosceles trapezoid

Kite (=̃ consecutive sides)

Trapezoid (exactly one pair of parallel sides, diagonals not =̃)
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Quadrilateral (not enough information to be more specific)

Could be a square or a rectangle since you don’t know the relationship between 𝑀𝑄

and 𝑁𝑃.
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